H & 0l & AHS B Ml A

=X

S - BE - B9I(3H) - NRAY - BES

MEE
Ofl &k2h

34,141,592

[RAAMHIA HIS

25,589,395

18,432,819

18,001,921

18,001,921

18,001,921

127,289

127,289

127,289

= it X3 (2

83,828

e

Ofl &F2H
37,937,643
= 22,758,654
[ 1,673,125
S 3,935,425
Al 9,570,439
28,748,297
= 19,685,157
Fas 1,334,694
= 3,245,647
Al 4,482,799
21,365,150
= 17,011,346
= 2,161,140
Al 2,192,664
21,018,800
= 16,815,040
S 2,101,880
Al 2,101,880
21,018,800
= 16,815,040
S 2,101,880
Al 2,101,880
(2DEZNE) 21,018,800
HAHSN 21,018,800
= 16,815,040
S 2,101,880
Al 2,101,880
140,598
= 112,478
S 14,060
Al 14,060
140,598
= 112,478
= 14,060
Al 14,060
(208X NE) 140,598
HatE M= 140,598
= 112,478
= 14,060
Al 14,060
83,828
= 83,828
83,828

83,828




SA S
M FOIMBXAMHIA HZ
ERl: JIEZMEEE EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 83,828
01 AtR2t2|HI 83,828 83,828 0
OZR = &bl X2 83,828
= 83,828
HEE I ZHESHAMA(EX) 50,400 46,800 3,600
= 25,200
Al 25,200
301 LEetE2 N = 50,400 46,800 3,600
s 25,200
Al 25,200
01 Al 2E AL S(FREXM) 50,400 46,800 3,600
OX=d J=dgey & 50,400
[ 25,200
Al 25,200
M= = 51,524 43,081 8,443
308 AHXIEMSOIH 51,524 43,081 8,443
08 W=J|A0He 2 & 51,524 43,081 8,443
OULSS0 (XYL 2E3) 51,524
OITHE! RSH| XA (E=x) 20,000 25,000 A5,000
=S 20,000
201 er23 | 4,000 3,700 300
= 4,000
01 At2t2l] 3,500 3,200 300
OO0IMHEl F15 Let+=EH| 3,500
[ 3,500
02 S3=gHl 500 500 0
OZdte 82| Ste=s S 500
== 500
301 EtE2 N = 4,000 21,300 A17,300
=S 4,000
01 Al EEATZ(2REZME) 4,000 21,300 217,300
OMdi+= =28 7 4,000
= 4,000
401 Al HIZL S 0HYI 12,000 0 12,000
& 12,000
01 A28l 12,000 0 12,000
OMdi+= &1 JIsEH 12,000
== 12,000
FHAAHS A 2,744,653 2,865,044 120,391
= 819,601
s 1,100,602
s 246,625




A FRISXID
Ho: FOIMEBTRAHIA U2
=t FHUASKE (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 577,825
2ZEX(EX) 1,024,501 1,024,501 0
= 819,601
& 102,450
Al 102,450
301 LPENSZ 1,024,501 1,024,501 0
= 819,601
= 102,450
Al 102,450
01 AISIBE XG2S (2 REXZE) 1,024,501 1,024,501 0
O2Z2=XKXI& 1,024,501
= 819,601
= 102,450
Al 102,450
KETES ASIMHIA EXAIS(EX) 1,375,752 1,537,454 A161,702
= 1,100,602
T 137,575
Al 137,575
201 Ler23H| 884 834 0
oy 708
T 83
Al 83
01 AtR2teldl 884 884 0
OXNSAIZI MEIA EXAIE 23| 884
= 708
T 83
Al 88
202 O4H| 1,000 1,000 0
= 800
& 100
Al 100
01 =LHOdH] 1,000 1,000 0
OXISAIZ AHBIA EXHANY O1H| 1,000
= 800
& 100
Al 100
307 212+01™ 1,373,868 1,535,570 A161,702
= 1,099,094
& 137,387
Al 137,387
11 Al =S XAIEE 1,373,868 1,535,570 A161,702
OXIS A2 MHIA EXALS 1,343,537
= 1,074,829




2A: F=X1
M FOIMBXAMHIA HZ
=t FHUASKE (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 134,354
Al 134,34
OF4d 0824 HI=H 30,331
= 24,265
= 3,033
Al 3,033
JIEZZCYWIAY KRA(BX) 26,400 27,400 1,000
& 6,600
Al 19,800
307 212+01™ 26,400 27,400 21,000
T 6,600
Al 19,800
11 Al =SXAMEES 26,400 27,400 21,000
OJ|12AZHT 2K 26,400
T 6,600
Al 19,800
Hedkt B35 3,000 7,000 24,000
307 212+01 A 3,000 3,000 0
01 22¥¢ 3P =l 3,000 3,000 0
OdHHAX E5H| 20,0003 150 3,000
MASF0 IF0HLEEHZ XA 226,200 192,000 34,200
301 LPENF 226,200 192,000 34,200
03 A B EHGIS (XY M) 226,200 0 226,200
OMAS=0 AL - BIRY Bz
18,850,000& x 12& 226,200
FAAUOIIIE MII23 A& 10,800 10,800 0
301 LetEHZ 10,800 10,800 0
03 A3 2 &6 2 (XY THA) 10,800 0 10,800
OZRLUUOHIE M3 XA
900,000 <12 10,800
F U AA/ORA MHIA MBS 78,000 40,889 37,11
201 B2 AY| 18,000 3,449 14,551
01 At=R2teld| 3,000 437 2,563
O121017 QR AE MY A 3,000
02 S=29| 15,000 3,012 11,988
O121017 oA E MY A 15,000
301 LetEHZ 60,000 37,440 22,560
03 A3 2 & 262 (XY THA) 60,000 0 60,000
Oote QFZE Y AHIA
8002 *5000+=2+3=33|*50=F 60,000
S|A=XIKIA 635,336 604,287 31,049
= 63,210
as 234,092

~
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A FRISXID
M FOIMBXRMHIA HZ
=t Y= (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 37,920
Al 300,114
SEAHIZ2IAF O1AH] XI2I(EX) 135,504 133,264 2,240
= 67,752
Al 67,752
101 2124 d| 135,504 133,264 2,240
= 67,752
Al 67,752
03 SRH(RINHS) 22X 2+ 135,504 133,264 2,240
OSEAtZEIAL Q148 X2 (4Y) 135,504
= 67,752
Al 67,752
SEAHHIZEIAL 21 AH] XI&A 31,572 27,975 3,597
101 214 d| 29,593 27,975 1,618
03 BRA(RIAHL) 22X B 29,593 27,975 1,618
OSEHAtell 22l AF 2=EH(3Y) 29,593
2 2,645,260+23] 5,291
29 Ihg 152,5003 * 12& 1,830
- A Z A 420,000& *12& 5,040
- HEMNS 3,915,030& 22| 7,831
- el &t=H| 40,0002 +3H*12& 1,440
MBS (R, XHH2, 221) 2,830
FSFLILPFE(EEN )
150, 1203 +3F 1 451
- OIS A 101,000 *3Z*10 3,030
ARG 50,0002 x3*12& 1,800
303 L&z 1,979 1,979
02 83 1,979 1,979
Odlt &= 1,979
ANZT SEAZE X(EX) 15,000 15,000 0
= 7,500
Al 7,500
201 B2 AL| 4,000 4,000 0
Ay 2,000
Al 2,000
01 AtR2elt] 4,000 4,000 0
OS&Atell2el 23| 4,000
= 2,000
Al 2,000
202 04dl 6,500 0 6,500
= 3,250
Al 3,250
01 =LHO4 L] 6,500 0 6,500
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SA S
M FOIMBXRMHIA HZ
=t Y= (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 126,410 166, 188 A39,778
= 63,210
== 37,920
Al 25,280
01 AR 2EHSHS(RNEXRTHE) 126,410 166,188 A39,778
OZR2UH-192e| i+ MEXI |l X 126,410
= 63,210
=S 37,920
Al 25,280
ROl EASAAHIA RE(FEAE Y XFAE 27,500 0 27,500
4)
201 er23| 27,500 27,500
01 At2t2ltl 27,500 27,500
Oobte BASXIAMHIA WK (0SS
& E) S 27,500
AISXIAIE X2 3,226,708 2,912,781 313,927
= 1,791,000
= 799,962
Al 635,746
HAUQAAE 2HXRA(EX) 2,558,571 2,333,172 225,319
= 1,791,000
== 767,571
307 gl2to| & 2,558,571 2,333,172 225,399
= 1,791,000
= 767,571
10 Al SXAEEE 22X 2,558,571 2,333,172 225,399
OBRIANE 29 2,558,571
= 1,791,000
= 767,571
HAUQAAE 2HNR(E BX) 82,583 83,769 A1,186
= 24,775
Al 57,808
307 elztol & 82,583 83,769 N1,186
= 24,775
Al 57,808
10 AlISXAZEE 22X 68,760 68,760 0
OZAQTAIE SAHA S8+ 68,760
s 20,628
Al 48,132
11 AMEISXAEEES 13,823 15,009 A1,186
OEAQAAIE HEZz2dl X 10,973
= 3,292
Al 7,681




SN FR=XD
Ha: ZOIMSTAMOIA M2
Rl AlRISXIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAQTAIE Aol H2aH| N 2,850
= 855
Al 1,995
AEl=X12 XI&(EX) 28,720 25,840 2,880
=S 7,616
Al 21,104
307 21201 & 28,720 25,840 2,880
< 7,616
Al 21,104
11 AMEISXAEEES 28,720 25,840 2,880
OAt2lSXI2 SAHA SE+E 18,720
& 5,616
Al 13,104
OAtzlsA2 Ng=sAE208 X3 10,000
= 2,000
Al 8,000
Atel = A2 X2 556,834 470,000 86,834
307 @I2t01 & 556,834 470,000 86,834
05 2IR”IRIE = 556,834 470,000 86,834
O A== 24 556,834
A2 SR 2 745,610 743,624 1,986
ANZERHE X2 (HEAY) 628,110 593,484 34,626
301 EtE NS 628,110 593,484 34,626
0 AR=R22as 628,110 593,484 34,626
OAZ =223 2= 576,000
OAtz| =223 1= 8,910
OAZI=223 wSH| 43,200
ANE=R2E 2 117,500 150,140 A32,640
301 2eEN= 117,500 150,140 A32,640
0 AR=SR224= 117,500 180,140 A32,640
OAI =823 SAH| 115,200
OAME SRR LS 2,300
FUASAHAHIA D2y 30,840 30,840 0
FR =KX 30,840 30,840 0
201 er=23y| 24,840 24,840 0
01 AtR2t2lHl 24,840 24,840 0
OAlsl=XggsRE g2ddn
230,000 +108% 24,840
203 gF=4| 3,000 3,000
03 A=A =] 3,000 3,000
O=2=X A= 250,000 * 122 3,000
301 EtE NS 3,000 3,000 0
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SA F2US
Y YASED BN JIBEH
o NASES 428X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 400
Al 600
01 2LHoIH 5,000 5,000 0
OXE2 2 A 04| 5,000
- 4,000
S 400
Al 600
206 M=l 8,000 8,000 0
= 6,400
== 640
Al 960
01 M= Hl 8,000 8,000 0
OXE2ZZAIY =4I 8,000
= 6,400
=S 640
Al 960
301 2eEN= 406,526 406,526 0
= 325,221
=S 32,522
Al 48,783
01 Al EE AL S(FREXMH) 406,526 406,526 0
OX2I22 A AAHHI(22RXE ) 406,526
= 325,221
= 32,522
Al 48,783
307 21201 & 2,494,808 2,691,653 A196,845
= 1,995,846
= 199,585
Al 299,377
1 AMISXAIEEXS 2,494,808 2,691,653 A196,845
Ol 2 ML (ANETLE S) 2,494,808
= 1,995,846
= 199,585
Al 29,377
XSAX&HE 29(2x) 265,75 252,402 13,354
= 177,461
= 3,672
Al 84,623
307 el2tol & 265,756 252,402 13,354
= 177,461
< 3,672
Al 84,623
10 Al SXAEEHE2EHI 22X 265,756 252,402 13,354




SA F2US
Y YASED BN JIBEH
el NASS 28N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXN St 23| 253,516
= 177,461
Al 76,055
OXNS A2 HE SAHA S84+ 12,240
=S 3,672
Al 8,568
NETES MSIMHIA STAIG (EX) (M8 (OtARY 350,144 351,288 A1,144
L2 RIHAS)
s 280,116
== 35,014
Al 35,014
307 212+01& 350, 144 351,288 AT1,144
= 280,116
= 35,014
Al 35,014
11 AMISXAIEEXE 350,144 351,288 AT,144
OJtArtg &2 el At NI At 350,144
[ 280,116
= 35,014
Al 35,014
2EssJ=S A2 (A LIISEH)(EX) 49,805 55,943 16,138
= 39,844
Al 9,961
307 212+01& 49,805 55,943 6,138
= 30,844
Al 9,961
11 AMEISXAEEES 49,805 55,943 26,138
O3l I=sE 2245 Hdd=s N2 49,805
= 39,844
Al 9,961
2z sHAUsTSNAFSANA(UHLIISSE)(EX) 9,458 13,873 4,415
= 7,566
Al 1,892
307 @I2to1 & 9,458 13,873 A4,415
= 7,566
Al 1,892
11 AMRISXAEEES 9,458 13,873 A4,415
oUgsIssd 2245 ddd= A 9,458
= 7,566
Al 1,892
2EssJ=SMHAESXH (HESYIISEH)(E 85,599 50,744 34,855
%)
= 68,479

_11_




SA F2US
Y YASED BN JIBEH
e MASS HEUHIXE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 17,120
307 gl2tol & 85,599 50,744 34,855
= 68,479
Al 17,120
11 ARRIS XA E X 85,599 50,744 34,855
OFIIYII=SSE 2245 Hels N2 85,599
= 68,479
Al 17,120
2 sHJUsrS NS (FEMSAH ) (EX) 65,610 128,213 262,603
= 52,488
Al 13,122
307 el2tol & 65,610 128,213 A\62,603
= 52,488
Al 13,122
11 AMISXAIEEX 65,610 128,213 62,603
OEENFAZ 2245 Hels A 65,610
= 52,488
Al 13,122
2ZsdJsrS M2 X (AL HMFAHIH) (EX) 54,463 27,082 27,381
= 43,570
Al 10,893
307 elztol & 54,463 27,082 27,381
= 43,570
Al 10,893
1 AMEISXAEEXS 54,463 27,082 27,381
OsIYMEAZ | 222=S HdsS N 54,463
= 43,570
Al 10,893
2esdJsrS M S-S X (ZAHL HZH E-Xt 61,048 11,24 49,754
A210I5H) (2X)
= 48,838
Al 12,210
307 glztol & 61,048 11,294 49,754
= 48,838
Al 12,210
11 AMEISXAIEEXS 61,048 11,204 49,754
OFHUHLMFAZH(XRI0I15H) 22AS
s A 61,048
= 48,838
Al 12,210
22sdJsrS M S-S (ZAHL M ZH E-Xt 372,730 66,025 306,705
ARIEDH (EX)
= 298,184
Al 74,546
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FA F2US
My 20 P& 22 Y N
el 28 XE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ=zl Xz =24 11,400
OEgd&gdxtzl Xzl 24 14,000
OLZEMEL X2 24 14,000
SEA X 14,300 14,300 0
201 2= 8,100 8,100
03 A2 I 8,100 8,100
0O4.1988, &L JIEAM N2 8,100
301 EtE NS 6,200 6,200
11 dALEEIXIZE S 6,200 6,200
04,1988, &L JIS8AMN E4A 2=
A2 50,000 x24H 1,200
OsEg JIg8Al 473kt 24 5,000
22ANE X 104,169 13,486 90,683
[ 50,000
Al 54,169
101 @124H| 12,169 11,486 683
M ORINZZ2NSE S 12,169 11,486 683
OHBAES ZHTH L HEXY
163,700 *3Z#28| * 110H A 10,145
OsiESAId= F=HEH & N=HY
84,3002 x3E *22| x4 04 A 2,024
201 et 3| 2,000 2,000
02 s3=gHl 2,000 2,000
O8sAEE B+ & |2l 2,000
401 Al HIZL 201 90,000 0 90,000
= 50,000
Al 40,000
01 Al&H| 90,000 0 90,000
O3.12tM2S VI8 =3 JHIAY 40,000
O6. 588 MAIZE SsRY FUA(E F=
QIE 0014 50,000
== 50,000
SEUHAI X(E BX) 1,680,000 1,488,000 192,000
= 336,000
Al 1,344,000
301 EtE NS 1,680,000 1,488,000 192,000
== 336,000
Al 1,344,000
01 Al 2E A S(SRNEXMHE) 1,680,000 1,483,000 192,000
O=JI2E2Hakt 22+E 1,680,000
< 336,000
Al 1,344,000
SEUHAA X 71,000 79,000 28,000
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SN OISR D
S A=A 212 DBty
=2lr AlBIEXIE 2l K3 (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
307 2I2+0l ™ 85,000 82,000 3,000
02 QIRHEAAIHE B X 20,000 20,000 0
OAtgl =Xl At KIA(At2IEXIS &
JlgAl o etets]) 20,000
03 QI HE2GHIEX 65,000 62,000 3,000
OAlIEX82s 29 X 65,000
FOGT2HH 28 X(E BX) 99,600 4,200 5,400
= 19,920
Al 79,680
307 2I2+01™ 99,600 HA,200 5,400
= 19,920
Al 79,680
1 ASI=SXAIEEE 99,600 94,200 5,400
OFLUETSBHEH 2Y(FAREHH 29) 99,600
& 19,920
Al 79,680
KA 2EE M K& 86,500 114,500 228,000
& 300
Al 86,200
KNAASI2ZE AN 23 85,500 113,500 228,000
201 2| 20,000 20,000 0
01 At 22|l 20,000 20,000 0
OSHs XNAAMIIEHE AN 33 2(
Mg 5) 20,0002 200 53] 20,000
202 Ot 500 500
01 =LHOBI 500 500
OAMz2X 2 23s 4 500
307 QI2Hol ™ 65,000 93,000 228,000
10 AlSISEXAEHE2EHIEX 49,000 47,000 2,000
OY&Al XIGAMIEHEAM 29 K& 49,000
M ARRI=SXAIEE X 16,000 46,000 A30,000
OY&Al XIGAMSSHE2AM At X2 16,000
KNSEAMSSESEAM &85 NJ(EX) 1,000 1,000 0
& 300
Al 700
201 Let23| 1,000 1,000 0
& 300
Al 700
01 AtR2telt] 1,000 1,000 0
OXNSAMESSAM FI& WS 1,000
& 300
Al 700
212 AISISXIAL SEF 25t 165,680 84,224 81,4%




M ZEol=x
S A=A 212 DBty
&2l QIZE ARSI XA HE 2t EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
QI2E ALSIS XA g 235 K& 165,680 84,224 81,456
301 LetEAEZ 140,000 60,000 80,000
03 MBI E& A 2=6I2(RILTHE) 140,000 0 140,000
ONBIZXNE BAK 'EELE" T2
200,000& 700 140,000
307 gI2tol ™ 25,680 24,224 1,456
12 QI2HI &t FH| 25,680 24,224 1,456
OgIZt ASISXIAL E0s X3
56,0003 280 15,680
ORIZH AlSI=XIAL 2T X&
125,000& *80H 10,000
Y 2HAHI(FRI=X1) 167,430 62,220 105,210
s 58,315
& 10,205
Al 98,910
Jl2ZHl(=2 =) 60,600 62,220 21,620
J|1E23H| 60,600 62,220 21,620
201 Ler2 | 33,000 33,500 A500
01 At 22|l 29,000 31,000 A2,000
O=0EX EFE =2H| 9,000
O=2I=2X R=& Let=2H| 20,000
02 2324l 4,000 2,500 1,500
OZ2322=2 & Al 4,000
202 o4t 22,800 23,800 21,000
01 =34 22,800 23,800 A1,000
O=2=EX SRF& FUHHYI 22,800
203 PR =&H| 4,800 4,920 A120
M FA2LHRFAH 4,800 4,920 A120
ORANEE HFFAHI 4,800
ol 2| 106,830 0 106,830
s 58,315
= 10,205
Al 38,310
At 2tel MEHIAH RS 33,936 33,936
101 @I24H| 25,507 25,507
03 SR (RIAHL) 22X ES 25,507 25,507
Oozz02elAl =& 25,507
2+ 1,190,340 2«2 4,762
I3 80,0002 2%« 123 1,920
- HUFAH| 140,000 x2%H 123 3,360
- CHergt s 40,0002 2+ 128 960
= 50,0003 x2H 123 1,200
- BEFIHI 1,428,400 x2H*23 5,714
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SA FUS
M B2 (FU=X )
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HItE AH| 110,880 x2&* 10 2,218
mraEsdsY 166,320 x2&x 1 333
D G BV WAER)
120,000 x1&* 122 1,440
o2=0 2A3(29) 3,600
303 Za= 1,429 1,429
02 8taois 1,429 1,429
Ogtati= 714,210 =23 1,429
M A=FLSS 7,000 7,000
04 SR (RIH 22N BE=RES S 7,000 7,000
O2AZSHCIAL EER JI2RES 7,000
AdiZel ML HE (EX) 72,8% 0 72,8%4
[ 58,315
= 10,205
Al 4,374
101 @1A4H| 72,894 0 72,894
[ 88,315
= 10,205
Al 4,374
03 SRH(RINHA) 222+ 72,8% 0 72,8%4
Ooz30&eIAH2Y) 72,8%
= 58,315
< 10,205
Al 4,374
Hegs(Fa=x) 2,108,113 2,045,071 63,042
LIS HHXIE 2,108,113 2,045,071 63,042
ISESEEI N HES 2,108,113 2,045,071 63,042
701 JIEHRIHSEES 2,108,113 2,045,071 63,042
01 DIl AN ES 2,108,113 2,045,071 63,042
O2=2s0AIY AlHIRE=S 2,108,113
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